) Part 1: Data Collection
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Part 2: Analysis of the Data
Using the grid below, graph your data. Be sure to label your axes and scale, and place a hﬂe

the graph.
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3. Isyour graph linear? Why or why no‘r') .
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4. Is there a correlation or association between the actual ages and your guesses? If so, what
is The association?

Can you draw a line that "fits" the cluster of points and that will best describe the data?

-

5. Choose fwo points Yo prepare a line of best fit, Then draw the line of best fit on your graph.
First pom‘r (’ZEF} 43y second point ("""4 ] )

6. Find the slope: O . Find the y-intercept:
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7. What is the equation for your line of best fit? }?;ECX“%‘@

*Where youa'g §9d guesser'"') J ushfy your ansuygar
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3: Interpret the slope/y-intercept. application ' .
-nat does the slope of the line of fit tell you about the rate of change when comparing your

guessed age to actual age?

What does the y-intercept tell you about your guesses?
*9. Based upon your scatter plot, were you a bad a good guesser?
Explain how you came to that decision?
What would the scatter plot look like What would the scatter plot look like for a
for a perfect guesser? _ for an over gquesser?
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12. What could be a possible equation for a(n)......

Perfect Guesser ‘%fl -
y=X

Under Guesser

Over Guesser

Good Guesser

Bad Guesser

10. What does the slope of the line of fit tell you about the rate of change when comparing

guessed age to actual age of a(n)
perfect guesser?

over guesser?

under guesser?

11. What does the y-intercept tell you about a(n)
perfect guesser?

over guesser?

Under guesser?

What would the scatter piot look like
good guesser?
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What would the scatter plot look like for a

, Tor a bad guesser?
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Who was the "BEST" guesser in your group? Why?
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Part 2: Analysis of the Data
Using the grid below, graph your data. Be sure to label your axes and scale, and place a T:ﬂe,

the graph. —
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3. Isyour gr‘aph linear? \(Vhy or why not?
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4 Is 'rher'e a cor‘relahon or assocmﬂon befween the actual ages and your guesses? If so, what
is the association? % ‘M.; h ﬂ‘i‘; g

g

Can you draw a line that "fits" the cluster of points and that will best describe the data?

5. Choose two om’rs to prepare a line of bes}f:*r The{ﬂn draw the line of best fit on your graph.

First point (__0, A0y second point (/5 , )

6. Find the slope: \\IL . Find the y-intercept: Q‘

7. What is the e.quaTlon for your line of best fit? U VAt 2

*Where you a "good guesser”? Justify your answer.
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): Interpret the slope/yv-intercept. application

-hat does the slope of the line of fit tell you about the rate of change when comparing your
guessed age to actual age?

What does the y-intercept fell you about your guesses?

*9. Based upon your scatter plot, were you a bad a good guesser?

Explain how you came to that decision?

What would the scatter plot look like What would the scatter plot look like for a
for a perfect guesser? for an over guesser?
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What would the scatter plot look like for
an under guesser?
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12. What could be a possible equation for a(n)......

o

Perfect Guesser

Under Guesser Li *1%1
(w - % i{ 5 S
Over Guesser q M\ . v;kfs 1’:\_\)
£

Good Guesser

Bad Guesser

10. What does the slope of the line of fit tell you about the rate of change when comparing
guessed age to actual age of a(n)
perfect guesser?
over guesser?
-under guesser?

11. What does the y-intercept tell you about a(n)
perfect guesser?

over guesser?

Under guesser?

What would the scatter plot look like
good guesser?

What would the scatter plot look like for a
,for'a bad guesser?
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Who was the "BEST" guesser in your group? Why?

o N,
OO0 A




AGE GUESS: What Type of Guesij"/éﬂre You??

(O
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Paﬁfﬁ?.f Analysis of the Data

Using the grid below, graph your data. Be sure to label your axes and scale, and place a title
«the graph.
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3. Is your graph linear? Why or why not: P

4. Is there a correlation or association between the actual ages and your guesses? If so, what
. oA L i

i iation? {2 ¢ LN/ AR

is the association: (fog Py i

Can you draw a line that “fits" the cluster of points and that will best describe the data?

5. Choose two points fo prepare a line of best fit. Then draw the line of best fit on your graph.
First point ( B , F_) ) Second point (_/.© /)

6. Find the slope: 3

. Find the y-infercept: - @

7. What is the equation for your line of best fit? K\ﬁ‘i} \)‘L

*Where you a "good guesser”? Justify your answer
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i: Interpret the slope/y-intercept, application
.nat does the slope of the line of fit tell you about the rate of change when comparing your

guessed age to actual age?
What does the y-intercept tell you about your guesses?

N
*9. Based upon your scatter plot, were you a bad a good guesser? \\WQ\@\ :
Explain how you came to that decision?

What would the scatter plot look like ' What would the scatter plot look like for a
for a perfect guesser? ) , for an over guesser?
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What would the scatter plot look like for
an under guesser?
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12. What could be a possible equation for a(n)......

Perfect Guesser t}g — X

Under Guesser

Over Guesser o 1 £ 3”’&:’%
< XN NG

Good Guesser

Bad Guesser

10. What does the slope of the line of fit fell you about the rate of change when comparing
guessed age to actual age of a(n)

perfect guesser?

over guesser?

under guesser?

11. What does the y- m‘ter‘cep’r ‘rell you abou’r a(n)
perfect guesser?

over guesser?

Under guesser?

What would the scatter plot look like What would the scatter plot look I:ke for‘ a
?

good guesser: , ,for a bad guesser?
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© Who was the "BEST" guesser in your group? Why?
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